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IMPORTANT NOTES
Hgearqut fAder

ST G H U9 B i § Td 36 et 371.UH. 3. T 1 Hell W H W |
Please fill up the OMR Sheet of this Question-Answer Booklet properly before answering.

Tot = / Tt e & W -ma 1 Bt 1= afi woa - o = e iwsh d s femr s o 21
Except Hindi Grammar/Hindi Essay question paper, all other question papers can be written either in Hindi or
English language.

eafefat w1 3 e i weel o1 dimn @ st w2 foraan =nfeu )| soe Seae #00 W a7 e S | 3rsefi I ) g
AT o siet & ford | @t v A ford |

The candidates should not write the answer beyond the prescribed limit of word; failing which, marks will be deducted.
Candidates should write the answers within the given lines. Please do not write in the blank space.

e WA 31 I e e # it v v d fod | s gfeaent (16 w5 & 7 afed) # st e amw s,
ST ATH, 3T I A, TA1 AT 3 IS T T sifera 7 w1 I e & my S3= S anft gerd e ot afsa 215
9T =1 IoeTaa A W ATEEE 1 Fis Arted {23 o sueh 3afiear e Frsnasi)

Please write answers only in the prescribed space of booklet. Do not make any mark of identity inside the booklet
(including rough paper page) like roll number, name, any other name, address or such.ether mark. Do not enclose
anything with the answer booklet. The candidature of candidates violating these instructions would be cancelled
without even giving them any other notices.

sreaffedt apt Fréfarer fava s 2 fob et g i e 73 8 o T s e & AT R T | s e 3 e
for@ 2 s ! where g Sten 78 smam|

Candidates are directed that they should not write (answer) outside the barder ling in every page. Answer written
outside the border line will not be checked by the Examiner.

afe et oo 9 fereft wepm o = o o aeaTenen wahrt o1 7f2 &1 i oo o feeh adll stish el § @ et w2
If there is any sort of ambiguity/mistake either of printing opiéf'factuahnatire then out of Hindi and English version
of the question, the Hindi version will be treated as standard.

Freefi 1 WA e HiesE weE A T |

The Question-Answer Booklet is provided in a sealedfe the candidate.

sreneff wTe qfEaeh % U T 39 371U, 3R, T T AT ferae et /e AT U @ i o) e T 6
I8 31U AT T el A e - TET i s st 1@

Candidate should fill up all desired details on this‘attached OMR Sheet of Question-Answer Booklet with
Blue/Black ball point pen. Please ensure that this OMR Sheet is not torn or damaged.

o8 3. 0H. 3T, e &1 i s, Foreih o e e e | S ofdf vl e )

This OMR Sheet consists of tWWo parts in which some information is pre-printed; remaining details have to be filled
by the candidates.

afa o e T S| b ST 2, T dehTe J1a % A U o & a9 I FEeE o, 51 35 At sreeff
|

If the Question-Answer Booklet is torn or not printed properly, immediately bring it to notice of invigilator and get
changed the Question-Answer Booklet, otherwise the candidate will be liable for that.

Tervra e« sreeff g afR it un AR, o e g vt St @ 38 T e o arfa adand st @ & s gr agel afen
& areafifan fea S aaR 3fv 3ges for arseff wrt seer g

Special Note : If there is any wrong information filled by the candidate then his candidature for the entire examination
shall be rejected by the commission, for which he himself will be liable.
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SPECIAL INSTRUCTION
fovre Ao

Y- A Evel o qun " § fawfea & | welie we § o e v # e simta s sifaergmdia, g e de saiia 3u-
W9 Y 0 & | 2Tl I we  svafis fersnen 32 o @ | welkes v o awe 3weh quites sifEa R d)

The question paper is divided into two Sections as 'A' and 'B'. There are three questions as very short type, short type
and long type guestions in each Section, in which there are sub-questions in each question. There is internal choice in
long type questions. The maximum marks are printed in front of each question.
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M-2019/GS-lll - A/05 g ra———— El- i
T 1. I H 15 3 I0-9 &, oelieh v 9 I i 15 3 20 v 4 3 2 | welt uv srfard € | o v 03 () s | (15%3=45)
Que. : 1. This question contains 15 very short type sub-questions. Answer each question in maximum 15 to 20 words. All questions are
compulsory. Each question carries 03 (three) marks.
I (1.1) o a9 iR 76 Ui’ o e @ 7 M=03
What is the difference between “Gypsum and Plaster of Paris” ?
I :
T
T: (1.2) T {o7d e W UE el 3794 R W 30 kg T97 TaF I @1 € | Fedl & gr fopan i fopen @ 7 | e
A coolie is walking on a railway platform with a load of 30 kg on his head. How much work is done by coolie ?
I
AT
T (1.3) SA-3t, S it ae W a2 7 1M-03
Why water hyacinth floats on water ?
I :
T
H: (1.4) 2 e, wiftar o g o &1 v A9 Geid # | 92 14 @ o wrftan g f st o wifiesar 0.62 8 | | Mo
T3 % B S ol T il g
Two players, Sangeeta and Reshma play a tennis match. It is known that the probability of Sangeeta
winning the mateh is 0.62. What is the probability of Reshma winning the match ?
3l ; AT
T¥H: (1.5) U Faei R 1 o 5o . 540 o1 | U GMER 3 38 20% o o | fadi g geaaner 7 | e
Selling price of toy car is Rs. 540. If the profit made by shopkeeper was 20%. What was the cost price of this toy ?
3l '
TeATE
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SECTION - A/ @UE - H

TH: 1. WA 15 39-9A ¥, W A o I A 15 3 20 ved 4 2 8 | aft v arfam # | weles v 03 (W) s (15x3=45)
Que. : 1. This question contains 15 very short (t)yzfe sub-questions. Answer each question in maximum 15 to 20 words. All questions are
compulsory. Each question carries 03 (three) marks.

TH: (1.6) HHCH % THR F TF Td H1 G%c 480 m? &, 31 TR geirel F A f gl 15 m 2 I A wsh | _imeoo
TR 1 1 TS 20 m @ | TEL HEII S 3l TS 1 hieg |

The area of a trapezium shaped field is 480 m?, the distance between two parallel sides is 15 m and one
of the parallel side is 20 m. Find the length of other parallel side.

UH: (1.7) URER AEE 7 M=03
What is the Pie Chart ?

T: (1.8) ok o o) o e w15 def e | 38 1 52 H gy g s ook v ok i & 7 (n=3.14) |-
The minute hand of a circular clock is 15 cm long. How far does the tip of the minute hand more
one hour ? (n = 3.14)

3L : |
T: (1.9) T sifga |uar Hifd % s fEhae | M-03
Write the name of parts of National Intellectual Property Rights.
Jal: i
WTeTF
YH: (1.10) URSHaE Siq | 7 M=03
Transgenic Animals.
I :




o — T SECTION - A/ @V — & 32
m:1.mmﬁ153ﬁa@um—m%,nﬁmmwwa&m1s H 20 yea 1 2 B | Aehit v A |9€&zsmoafh=r)aiahﬂ%| (15x3=45)

Que. : 1. This question contains 15 very short type sub-questions. Answer each question in maximum 15 to 20 words. All questions are
compulsory. Each question carries 03 (three) marks.

W (1.11)  Feil YEe : A SR | M=
Energy Management : Issues and Challenges.
3l :
Wi
TH: (1.12) T FIeS Yoo & 1 WA 8 7 _qme0s.
What do you mean by fecal sludge management ?
I :
TS
YH: (1.13) QM= | 1pe0
Bioremediation.
I :
biiica
TH: (1.14) IHTHI THTFDF | i
Venkatraman Ramakrishnan.
3
WS
T9: (1.15) Sid 3EEA | 9M=03
Biomagnification.
I :
YT
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SECTION-A/EUS - H

W : 2. Frefafaa § 3 i 10 wwi % 30t srfteran 100 w=ai # fofau) uees 771 6 (3:) sHia ) (10x6=60)
Que. : 2. Write the answers of any ten of the following questions in maximum 100 words. Each question carries 6 (six) marks.
T: (2.1) SR % TEI] HigH I GUE T | Jpuce

Describe Bohr's model of an atom.
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SECTION - A/ @UE — 3 af:

A : 2. Trafafaa 3 3 fadi 10 vt & 3 stfirsran 100 wedi # fafiaw) o= woa 6 (B:) 3 #1 2) (10x6=60)

Que. : 2. Write the answers of any ten of the following questions in maximum 100 words. Each question carries 6 (six) marks.

TH: (2.2) G IH U9 39 99 | M=06

Sonic Boom and its effects.
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SECTION - A/ &UE — 3 [w]

9w : 2. Ffafaa o @ i 10 w1 % 3w stfasaw 100 ysai # foflaw) uwies we 6 (B:) i #1 81
Que. : 2. Write the answers of any ten of the following questions in maximum 100 words. Each question carries 6 (six) marks.

(10x6=60)

T (2.3) 39 W & o T ST 39 30 cm, 40 cm, 50 cm @ i TIHETER U HH SR S, @1 79 94
%1 el g &Abe 91 SN ¢
Three solid cubes of sides 30 cm, 40 cm and 50 cm respectively are melted and made one cube. Find
the total surface area of new cube.

q/M=06




M-2019/GS-IIl - A/11 SECTION - A e - 5 Ok o
g : 2. Frefefiaa & & fonedl 10 wwl & 3wt atfrram 100 veei & forfiav) wedes w1 6 (B:) 3= =1 21 (10x6=60)
Que. : 2. Write the answers of any ten of the following questions in maximum 100 words. Each question carries 6 (six) marks.

TH: (2.4) Wgeehiga W feoanft fafaw | s

Write note on Mitochondria.

-11-
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o ; 2. Treferiga d & fanedi 10 w1 & 3wt srfireram 100 w=3i # forftan) wedies we 6 (B:) i F R (10x6=60)
Que. : 2. Write the answers of any ten of the following questions in maximum 100 words. Each question carries 6 (six) marks.
TH: (2.5) Uk shell ¥ ST i Sfcwrd o fanfiia i e T H 40% B | H T T 22 8 | FEH DA | _amos
) T F1 ST il T W UG F1d FI |
In a class, the percentage of girls is 40% of total number of students and are 22 in number. Find the ratio
of the number of girls to the number of boys in the class.

“49-
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SECTION — A/ @UE - & ;
we : 2. frafafaa & @ et 10 vt & 3w atforsmam 100 wei 7 foafan) wees w99 6 (B:) =79 &1 2 (10x6=60)

Que. : 2. Write the answers of any ten of the following questions in maximum 100 words. Each question carries 6 (six) marks. |
U (2.6) S 31T U1 o ol F AN 9 2 | S Il FI TH TR Feed 8, 91 91d & foh qiomdt 78 T gu g | im-os
¥ 27 AT 2, 91 3 AhE g TR 7

Sum of the digits of a two digit number is 9. When we interchange the digits, it is found that the resulting
new number is greater than the original number by 27. What is the two digit number ?
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SECTION - A/ @UE - 3

o : 2. Fafafas 4 9 Rl 10 w7 % 3 siftreram 100 wrsai 7 Tl wedes w99 6 (B:) 311 71 2 (10x6=60)
Que. : 2. Write the answers of any ten of the following questions in maximum 100 words. Each question carries 6 (six) marks.

TH: (2.7) Y T, 9% YRR TE IYAIRIET 1 GHETS | M=06

Explain remote sensing, its types and uses.

-14-
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SECTION - A/ @UE — 3 [=]

v : 2. Terferfiaa o @ fredi 10 vt % 3 srfirsram 100 wrsai 8 fafiau| wedes v 6 (B:) o7 1 21 (10x6=60)
Que. : 2. Write the answers of any ten of the following questions in maximum 100 words. Each question carries 6 (six) marks.
T (2.8) SIETYH 394 FTRId & ¢ 9o FI1 M @Id @ ¢ B

What are fossil fuels ? What are their disadvantages ?

-15-



M-2019/GS-lll - A/16
SECTION - A/ @UE - &

e : 2. Fafafias 8 3 f 10 w1 & 3w ifian 100 y=ei 6 fafae) v 997 6 (B:) siFi F:1 2)

Que. : 2. Write the answers of any ten of the following questions in maximum 100 words. Each question carries 6 (six) marks.

(10x6=60)

TH: (2.9) AT UiEeH, 38 RN Ud HEHIeTs 3T i aHesd |

Explain climate change, its causes and remedial measures.

qM=06

-16-
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SECTION - A/ @UE — 3
i ; 2. FrefcRan 9 | TRl 10 w1 & I srfirsam 100 st 1 forfau) wedes w9 6 (B:) o7l =1 21

Que. : 2. Write the answers of any ten of the following questions in maximum 100 words. Each question carries 6 (six) marks.

(10x6=60)

T (2.10) ToH == - 2 W ot fafau |

Write note on Mission Chandrayaan — 2.

q/M=06

A7



M-2019/GS-ll - A/18 SECTION - A/ TS - & Eﬁ

W : 2. Frforfiaa # & faedi 10 vl % 3av arfirram 100 wisei A fofiae | wedes e 6 (©:) il &1 21 (10x6=60)
Que. : 2. Write the answers of any ten of the following questions in maximum 100 words. Each question carries 6 (six) marks.

T (2.11) GATEr e At - 1986 i wyE fasvard auzmed | ko

Explain salient features of Environment Protection Act — 1986.

-18-
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uA : 2. Fafafea @ 3 e 10 vl & 3w afieram 100 =i & forfigu) o w3 6 (B:) et 2) (10x6=60)
Que. : 2. Write the answers of any ten of the following questions in maximum 100 words. Each question carries 6 (six) marks.
:(2.12) it wEe W fewoft faflay | o

Write note on Bt Crops.

*
}

s Yauiiiis
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SECTION - A/ @UE — & [=]

U : 3. 30U H 03 I9-U §, Telieh U3 o1 3w AAferskan 300 visal 7 3 B adt v srfamd | wees v ¥ i e of 21 sremef
fore sviat fes %1 30 2 @ § 30 I Ieoi@ I o Ane AFEE: | S 9 15 (TEg) i w0 R (3x15=45)
Que. : 3. There are 03 sub-questions in this question, each has to be answered in maximum 300 words. All questions are mandatory. There is
also an internal option in every question. The answer to the internal option of the candidates is to be made explicitly before the answer.
Each question carries 15 (fifteen) marks.

TH: (3.1) (A) 1= amroft 1 eamgEe stemeE e, i fa e v o I =15
@e Fel Raenfeat @ gfava gy : uigen Raersh
LEERIE 15 2:1 L
MIGIE] 12 1:1
T 8 1:7
LRED 13 1:4
wefien 26 g
e 16 3:1
LRGE 10 249

e fgenfeai & @@ = 100

(a) 1 ufeen faenfeat i wen R 2 7

(b) fora @t W waifers gey faenfeai 4 s forn 2
(c) TR § qeul <l 9Tfiert Fet (To Ud Aicen) Raenfeai &1 fordan gfowa 2 7 1

Study the following table carefully and answer the questions given below :

What is guantum supremacy ? How quantum computing is different from traditional computing ? What
can be the possible applications of quantum computing ?

Sports Total players percentage Male : Female Players
Boxing NS 21
Chess 12 129
Snooker 8 1:7 |
Swimming 13 1:4 ‘
Badminton 26 1:1
Cricket 16 351
Shooting 10 2:3
Total number of Players = 100
(a) What is the total number of female players ?
(b) In which sport maximum number of male players participated ?
(c) What is the percentage of male players participated in snooker to all the players (male and female) ?
FAYET/OR
(B) FaiieH Sl 41 ® 7 Faien Frgfen i wegfdn & forg wer fir 2 7 Faien swwqfen & @ sigwm 1
AHHAE 7

-20-
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TH: 3. 39 THH 03 I9-TH &, TS T F I SArFad 300 eat § <1 81 Al v At ) weleh v 7 st fwe oft ) svaed
forg ariafts fames =1 3 2 @ § 309 W Ieoi@ W & GAE AHara: i) Tedeh T 15 (T=EE) T F 8 (3x15=45)
Que. : 3. There are 03 sub-questions in this question, each has to be answered in maximum 300 words. All questions are mandatory. There is
also an internal option in every question. The answer to the internal option of the candidates is to be made explicitly before the answer.
Each question carries 15 (fifteen) marks.

59 : (3.1) continued ()

30l ;

R I i e I s S N a7 *‘T—“—w—-———'w‘—w———'-————-——ﬁ—v—————u

-21-



SECTION - A/ @UE — 3 =]
W : 3. §6 W H 08 39-3% ¥, Uk T 1 I Afewan 300 YeE H o1 81 welt v ifand #) vl v A i e oft 21 s

form arrafis ooy =1 30 2 @ & 3o T Iooi@ 3w % ang arfiarda: = el 9 15 (9=E) 3= w2 (3x15=45)

Que. : 3. There are 03 sub-questions in this question, each has to be answered in maximum 300 words. All questions are mandatory. There is

also an internal option in every question. The answer to the internal option of the candidates is to be made explicitly before the answer.
Each guestion carries 15 (fifteen) marks.

¥ : (3.1) continued (STf)

M-2019/GS-lll — A/22

-22-




M-2019/GS-Ill - A/23 SECTION - A/ @UE - 3

T : 3. WA T 03 I9-WH &, Ueleh W 1 I tfuan 300 veE H 3 ) wft we srfard #) e v § oraie fased ot 1 s
o apafte fawey 1 30 2 2 3 36 e Jeoi@ I & gae AfEra: #5199 v 15 (TFE) 9F # 8 (3x15=45)
Que. : 3. There are 03 sub-questions in this question, each has to be answered in maximum 300 words. All questions are mandatory. There is
also an internal option in every question. The answer to the internal option of the candidates is to be made explicitly before the answer.
Each question carries 15 (fifteen) marks.

¥ : (3.1) continued ()

23-
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T : 3. T IH T 03 3U-T &, Urleh T 1 I Aferhaq 300 wreat 1 3 21 it uen srframd #) weles wva o stk R oft 31 ananeff
form sriafen fames =1 302 @ € 30 9% Sooi@ IO & GRS A B O vE 15 (T97) S F 2)

(3x15=45)

Que. : 3. There are 03 sub-questions in this question, each has to be answered in maximum 300 words. All questions are mandatory. There is
also an internal option in every question. The answer to the internal option of the candidates is to be made explicitly before the answer.

Each question carries 15 (fifteen) marks.

T9: (3.2) (A) 1 o Shfcd Gral =hl Iaa™ fEIfd =1 U U | Td Aiasg | 39eh GH1a-131 6 faa=an & |

Discuss the current scenario of alternative sources of energy and give an account of their future

prospectives.
) HAYAT/OR )
(B) fasm va qerieh =1 wmTfores 3iR swifedes fasrma ® srgwar @usnse | 39 3are i |
Explain the applications of science and technology in social and economic development. Give its some
examples.

qM=15
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SECTION-A/@UE - A
' U : 3. ST W 03 39-NH &, Weeh T o 3¢ AR 300 veal 1 3 2| |t v srfrard €| el v § sriafes faened ofi #) sregef

} fora riafts famey &1 300 2 @ & 30 T1% IeoiE 300 &GNy STFETa: F| Uelw U 15 (U2E) a2 (3x15=45)
L
E

|
- M-2019/GS-lll - A/25 O]

Que. : 3. There are 03 sub-questions in this question, each has to be answered in maximum 300 words. All questions are mandatory. There is
also an internal option in every guestion. The answer to the internal option of the candidates is to be made explicitly before the answer.
Each question carries 15 (fifteen) marks.

¥ : (3.2) continued (IIT)
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W : 3. 36 TF H 03 39~ &, Telieh W 1 I sifirhan 300 viRl # 31 B wedt e arframd &) wedens wea # sriafies ey ofi 81 sreredi
form et foea @1 3 2 @ € 3EE T Ieor@ W % wne AAfiara: ) uwin e 15 (T2E) 9 w0 8 (3x15=45)
Que. : 3. There are 03 sub-questions in this question, each has to be answered in maximum 300 words. All questions are mandatory. There is
also an internal option in every question. The answer to the internal option of the candidates is to be made explicitly before the answer.
Each guestion carries 15 (fifteen) marks.
WH : (3.2) continued (ST)
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YA : 3. SETE 03 I9-UH ¢, Stk W 1 Ie atfersrad 300 vieat # o 21 wedt wen arfiramd §| el v ¥ st e of 81 arenfi
Forg srrafi e 1 39 2 @ ¥ 35 e Ieci@ I o Ay Afarda: F) Ies 7 15 (TEE) 3 2 (3x15=45)
Que. : 3. There are 03 sub-questions in this question, each has to be answered in maximum 300 words. All questions are mandatory. There is
also an internal option in every question. The answer to the internal option of the candidates is to be made explicitly before the answer.
Each question carries 15 (fifteen) marks.

H: (3.3) (A) F=:ETa TR | 91 GHEd 21 7 39 TR § Grfad 214 aTel eRET o a1 ol & § 90 | M-15
l What are endocrine glands ? Describe in brief the functions of hormones secreted by these glands.
HAFT/OR
} (B) Trie 3eoa o st @ % e 3 e o e wrn o Freamon s 8 e R a2 7 @ T T ;
| I e § ST 21 S @ Sediet SafiTei 1 gifid w9 8 FE w1 EHd @ ¢ s

p What are the impediments in disposing huge quantities of discarded solid wastes which are continuously
being generated ? How do we remove safely the toxic wastes that have been accumulating in our
habitable environment ?

-27-
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M-2019/GS-lll - A/28

SECTION - A/ @US - H
9 : 3. 39 TH H 03 397 ¥, Ueleh U o Iu Faferhan 300 vsai A & 21 At v arframd €1 welie v F rattes ey oft 21 svaed
Form et famea =1 39 2 @ & 0o ¥ Ieor@ I GAeE AEEa: | Tew 9 15 (9=E) AF w2 (3x15=45)
Que. : 3. There are 03 sub-quastlons in this question, each has to be answered in maximum 300 words. All questions are mandatory. There is
also an internal option in every question. The answer to the internal option of the candidates is to be made explicitly before the answer.
Each question carries 15 (fifteen) marks.
¥ : (3.3) continued (SRT)

IEI!..'ZjiEI

|
-28- i
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SECTION - A/ @UE - 3

T : 3. 38 WA T 03 39-5 ¥, Weeh W9 i I st 300 a1 § &1 B Al we srfrad ) wwedien wee i ariafi fwen o @) vl
o Tt faseT &1 37 2 1@ # 309 T Jooid I o gAY SHarEa: % Telde T 15 (UsE) 3 #2) (3x15=45)
Que. : 3. There are 03 sub-questions in this question, each has to be answered in maximum 300 words. All questions are mandatory. There is
also an internal option in every question. The answer to the internal option of the candidates is to be made explicitly before the answer.
Each question carries 15 (fifteen) marks.

¥ : (3.3) continued (ST)

;

-29-
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P O W

T & gg T
SPACE FOR ROUGH WORK
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